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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

3000
—e— ECI
2800
2600
2400
2200 -

2000 -

1800 Warning: col ["ECC, "FVIEC'] is missing

30 40 50 60 70



Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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P3-4

BYiE) | GEBIATIK () | EHME (EH/&) | EBRERE (/X)) | KR R

05:45 273 150.0 2.583 FA| 1B2i%@05:45 B3h (kBIEREE)
06:45 273 150.0 2.583 |Z=| {Ri%e06:45 Bz (KREAEZEHE)
07:45 273 150. 0 2.583 (&=| {Ri%e07:45 Bz (RAEDSE)
09:05 273 150.0 2.583 (£ =| {Ri%@09:05 Bz (KRAERSE)
10:55 273 150.0 2.583 FH| 1BRi&@10:55 Bzh (GRAEREE)
13:20 273 150.0 2.583 FA| 1B2i%@13:20 B3h (kPBEREE)
14:20 273 150.0 2.583 FA| {Ri&@14:20 Bz CGRAEEE)
15:25 273 150.0 2.583 FA| 1B2i%@15:25 B3h (kAIEREE)
2it]2184.0 (8%) 1200. 0 3HKEC: 2200, PH: 6.0

FREVEN S Kt i%PH 6. 005
REE NS KIFHIKEC 2200. 0




P3-4_0, Day=76 (2025-06-13)
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P3-4

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R

06:55 283 150.0 2. 583 FA| 1B2i%@06:55 Bzh (kAB{ERESE)
07:55 283 150. 0 2.583 FA| {Ri%@07:55 Bz (GkAEEE)
12:40 283 150.0 2.583 | K/| f{Ri%e12:40 Bzl (KREAERKSE)
13:40 283 150.0 2.583 FA| 1BRi%@13:40 Bzh (kAEREE)
14:35 283 150.0 2.583 FA| 1BRi%@14:35 B3h (RAERSE)
15:30 283 150.0 2.583 (Z=| {Ri%@15:30 Bz (GRAEHRSE)
B4t 1698.0 (6%) 900.0 ZHIKEC: 2200, PH: 6.0

FREVE NS K it i%PH 6. 005
##[EKECE (1803.0 vs 3790.0) 35
FRBVIE NS R IFIREC 2200. 0
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P3-4

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:20 283 150.0 2.583 F[ BRi%e07:20 Ba (GRAERSE)
07:55 283 150.0 2.583 S| {Rig@07:55 Bz (RAERSE)
09:05 283 150. 0 2.583 E BRi%@09:05 BE1 (RAERE)
09:50 283 150.0 2.583 F[ BR1%e09:50 BE1 (RAERE)
10:35 283 150.0 2.583 =l {Ri%@10:35 B3 (RAERSE)
11:15 283 150. 0 2.583 El BRige11:15 Bz CGRAERESE)
11:55 283 150.0 2.583 S {Ri%e11:55 Bz (GRAERSE)
12:30 283 150.0 2.583 = {Rig012:30 B3 (RAERSE)
13:10 283 150. 0 2.583 E BRige13:10 Bz (GRAERESE)
13:50 283 150.0 2.583 5| 1RiRe13:50 B (KREAERES)
14:20 283 150.0 2.583 = RRiB014:20 B (RFAEESE)
14:55 283 150. 0 2.583 E BRige14:55 Bz CGRAERESE)
15:30 283 150. 0 2.583 El 1BRi&e15:30 Bz CGRAEREE)
16:15 283 150.0 2.583 =l RRiB016:15 Bz (RFEAEESE)
17:10 283 150.0 2.583 =l RRiBe17:10 Bz (RAEEE)
2it] 4245.0 (15)%) 2250. 0 3HKEC: 2200, PH: 6.0

REEZ NS RFHIEPH 6. 005
#[ERECE (1847.0 vs 4147.0) 35
BV S R REC 2200. 0




P3-4_0, Day=74 (2025-06-11)
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